



The following documentation is an electronically-submitted vendor response to an advertised solicitation from the *West Virginia Purchasing Bulletin* within the Vendor Self-Service portal at wvOASIS.gov. As part of the State of West Virginia's procurement process, and to maintain the transparency of the bid-opening process, this documentation submitted online is publicly posted by the West Virginia Purchasing Division at WVPurchasing.gov with any other vendor responses to this solicitation submitted to the Purchasing Division in hard copy format.

Header @ 17

List View

General Information | [Contact](#) | [Default Values](#) | [Discount](#) | [Document Information](#) | [Clarification Request](#)

Procurement Folder: 1896815

Procurement Type: Central Purchase Order

Vendor ID: 000000110302

Legal Name: GOLD TOUCH INC

Alias/DBA:

Total Bid: \$43,112.25

Response Date: 03/10/2026

Response Time: 11:40

Responded By User ID: Goldtouch4828!

First Name: matt

Last Name: scantlin

Email: runningboardsandmore@g

Phone: 6812052934

SO Doc Code: CRFQ

SO Dept: 0313

SO Doc ID: DEP2600000026

Published Date: 3/3/26

Close Date: 3/10/26

Close Time: 13:30

Status: Closed

Solicitation Description: REAP / AAH Promotional Items

Total of Header Attachments: 17

Total of All Attachments: 17

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
1	Backpack Coolers	20.00000	EA	31.500000	630.00

Comm Code	Manufacturer	Specification	Model #
80141605			

Commodity Line Comments:

Extended Description:

Backpack Coolers
per section 3.1.1 of the attached specifications

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
2	Crossland Camp Chairs, or equal	20.00000	EA	32.600000	652.00

Comm Code	Manufacturer	Specification	Model #
80141605			

Commodity Line Comments: gray with black trim

Extended Description:

Crossland Camp Chairs, or equal
per section 3.1.2 of the attached specifications

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
3	Oversize Beach Towels	20.00000	EA	25.950000	519.00

Comm Code	Manufacturer	Specification	Model #
80141605			

Commodity Line Comments:

Extended Description:

Oversize Beach Towels
per section 3.1.3 of the attached specifications

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
4	Recycled Blend Totes	50.00000	EA	5.600000	280.00

Comm Code	Manufacturer	Specification	Model #
80141605			

Commodity Line Comments:

Extended Description:

Recycled Blend Totes
per section 3.1.4 of the attached specifications

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
5	60" Sport Umbrella	20.00000	EA	17.500000	350.00

Comm Code	Manufacturer	Specification	Model #
80141605			

Commodity Line Comments:**Extended Description:**

60" Sport Umbrella
per section 3.1.5 of the attached specifications

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
6	Outdoor Essentials Kit	50.00000	EA	9.750000	487.50

Comm Code	Manufacturer	Specification	Model #
80141605			

Commodity Line Comments:**Extended Description:**

Outdoor Essentials Kit
per section 3.1.6 of the attached specifications

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
7	Bamboo Cutting Boards	20.00000	EA	20.000000	400.00

Comm Code	Manufacturer	Specification	Model #
80141605			

Commodity Line Comments:**Extended Description:**

Bamboo Cutting Boards
per section 3.1.7 of the attached specifications

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
8	First Aid Kit	2750.0000	EA	7.950000	21862.50

Comm Code	Manufacturer	Specification	Model #
80141605			

Commodity Line Comments:**Extended Description:**

First Aid Kit
per section 3.1.8 of the attached specifications

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
9	3-in-1 Cable Charger and Pouch	1750.0000	EA	3.750000	6562.50

Comm Code	Manufacturer	Specification	Model #
80141605			

Commodity Line Comments:**Extended Description:**

3-in-1 Cable Charger and Pouch
per section 3.1.9 of the attached specifications

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
10	Eco-friendly Sticker Books, or equal	1000.0000	EA	3.500000	3500.00

Comm Code	Manufacturer	Specification	Model #
80141605			

Commodity Line Comments:

Extended Description:

Eco-friendly Sticker Books, or equal
per section 3.1.10 of the attached specifications

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
11	Four (4) Pack Soy Crayons	1500.0000	EA	2.250000	3375.00

Comm Code	Manufacturer	Specification	Model #
80141605			

Commodity Line Comments:

Extended Description:

Four (4) Pack Soy Crayons
per section 3.1.11 of the attached specifications

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
12	Recycled Mood Pencils with matching eraser	2000.0000	EA	1.850000	3700.00

Comm Code	Manufacturer	Specification	Model #
80141605			

Commodity Line Comments:

Extended Description:

Recycled Mood Pencils with matching eraser
per section 3.1.12 of the attached specifications

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
13	License Plate Frame	100.00000	EA	2.750000	275.00

Comm Code	Manufacturer	Specification	Model #
80141605			

Commodity Line Comments:

Extended Description:

License Plate Frame
per section 3.1.13 of the attached specifications

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
14	Handy Breeze Fan and Flashlight	50.00000	EA	4.750000	237.50

Comm Code	Manufacturer	Specification	Model #
80141605			

Commodity Line Comments:

Extended Description:

Handy Breeze Fan and Flashlight
per section 3.1.14 of the attached specifications

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
15	Inspired Notebook with Pen	75.00000	EA	3.750000	281.25

Comm Code	Manufacturer	Specification	Model #
80141605			

Commodity Line Comments:

Extended Description:

Inspired Notebook with Pen
per section 3.1.15 of the attached specifications



STICKER BOOK

Ages 3+

Eco-Friendly Fun!

STOP LOOK & learn™



{ YOUR IMPRINT HERE }



STICKER BOOK

Ages 3+

Eco-Friendly Fun!

STOP LOOK & learn™



{ YOUR IMPRINT HERE }



**SOY
CRAYONS**



**Green
Mountain
Energy™**





MONK-11 Green to Yellow

MONK-2 Blue to Light Blue

MONK-3 Coral to Melon

MONK-6 Orange to Yellow

MONK-19 Purple to Pink

















Four spiral-bound notebooks are shown, fanned out from left to right. Each notebook is made of light brown, textured paper and has a metal spiral binding on the left side. A matching colored elastic band is stretched across the bottom of each notebook. The first notebook on the left has a black logo consisting of a gift box icon and the word "LOGO" in a sans-serif font. The second notebook has a black elastic band and a black pen with a black cap. The third notebook has a blue elastic band and a blue pen with a blue cap. The fourth notebook has an orange elastic band and an orange pen with an orange cap. The pens are all made of a light-colored material, possibly bamboo or recycled plastic, with a textured grip.

LOGO